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QUESTION 1

Which component provides a modern workflow automation platform which can be used by companies to automate
hardware and software systems throughout their IT infrastructure. 

A. Cloud Assembly 

B. vRealize Orchestration 

C. CloudHealth 

D. vRealize Operations 

Correct Answer: B 

 

QUESTION 2

What is the search query result if the vRealize Log Insight regular expression "(A|b|c)" is used? 

A. A or b and c 

B. A and b or c 

C. A or b or c 

D. A and b and c 

Correct Answer: C 

 

QUESTION 3

An administrator has re-logged on to vRealize Operations Manager and would like to continue reviewing an active
troubleshooting for a VM in Workbench. 

What must the administrator perform to continue the investigation? 

A. Sessions do not persist after the user logs out from vRealize Operations Manager. 

B. The administrator must contact VMware support to retrieve the latest session information vRealize Operations
Manager. 

C. Sessions can be imported based on an export prior to the user logging out of vRealize Operations Manager. 

D. Sessions are persisted after the user logs out from vRealize Operations Manager. 

Correct Answer: A 

 

QUESTION 4
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An operator has been tasked with powering on a single virtual machine that has been onboarded, along with a number
of additional virtual machines, into a single deployment within vRealize Automation. The virtual machine was onboarded
in a powered-off state. 

Which two actions could the operator take to complete the task? (Choose two.) 

A. Locate the deployment in vRealize Automation, and use the Power On Day 2 action. 

B. Locate the virtual machine in vRealize Log Insight, and use the Power On action. 

C. Locate the deployment in vRealize Operations, and use the Power on action. 

D. Locate the virtual machine in vRealize Operations, and use the Power On action. 

E. Locate the virtual machine in vRealize Automation, and use the Power On Day 2 action. 

Correct Answer: BD 

 

QUESTION 5

Which two vRealize Suite components can an administrator use to help troubleshoot and resolve issues with an existing
deployment of vRealize Automation? (Choose two.) 

A. vRealize Operations 

B. Workspace ONE Access 

C. vRealize Suite Subscription Manager 

D. vRealize Log Insight 

E. vRealize Orchestrator 

Correct Answer: AE 
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